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2 X - f(x) =

x
-3,3 = x =4

(5x, 4 = x 15

i
-ingies

⑰AAvzoogi.
F(x) ==

xe[3, 4] :F(x) =((y-c)dy =19 - 3(x-3)

=6+9,F(x) =

x(5 +-)dy =
+5(x-4)-

= +xx24-23
F(5) =1
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F(= (eees'asact-
F(X) =H:+

x =1: x
=

6x+9 =2 =

X1,2 =E(z,y)
->
u: -x110X-23:24

=>X,z= .
- (=[4,5])

B Reject
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g(x):h(3,5):g(x) =1, 3 = x =5
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4,5 ,5] 27(x)
=2 f(x) =2

cg(y) = 1.2 =1 by



astoratios accept reject

D Generate Y-2(3,5)

I2) U-(a,1)
If u =A =f(y) =x =Y

cq(Y)
else reject Y, return to

A
X =0

0 =E(max(X -0,0) Eq(x)
=4 =

4

⑨ DE 95% Un 0, 1000 are eGarazas

⑧ IE95% peimportance sampling

& Aptos, xeumtonarrt rgamma



⑧ Importance Sampling:
Y - g

0 =E,h(x)
=(h(x)f(xdx =(h(x) f(x)dx

=Eg[n().!!]

9: Exp(x), Eg(Y) =I:Ef(x) =

4,e
=2

(T(n, x):nef(x) =e* f(x)xe
- "14

q(x) =1,e

- -
0 =Eg (

max(Y- 8,0) .Ye]



alithgenerate Y., .... You Exp(Y)

2) Ej =max(Y; -8,0).Y e",j=1,..,

3) O = 2Z;

mia:gi F tilted)

Me t:Eg(x)
=4

-

Eve zuxaic tinace as 90,1, ..., N3

heangeoguiia lter:

240.--
T:xgivos pexy, zu asoggiquou

0::E(T/X
=i)

@ Euragum R:function Aptime (N, p, i, n)
7:cg. Enavayntfo



unogogife95% DE ya Oi

⑯ Na unofogeo:nivaxas:(pa N =10,P =(, n
=1000)

i di Li Ui

I (i, 4i):DE 0;

mill,a
X-N(n,c)
0 =E(X- n/X - n +3r)

⑨ DE 95% 0, of1000 enavagites

⑧ "Xenoqonoy qua midod
&

Meiwang Jianogas



⑨ Terrixia X/X>n+3r

Teripa Sow I jurnega Xuf

y =xX =A

AcceptRejecti

yuX⑲x+EDequi or YEA

dias. anogeinzele

Ev or Y-N(m, w2)

Dekhi ai Y>M+35

P(y x x +30) =1 - 4(3) =153

Tan van interopitte qua naaneum

anaoirion 1000 enarafites YN

Ta n=1000 - anazinaN



⑧ eranceSampling
Tilted density Yv/(n+rt, 52)

fly) -areen

517):r(x)

)i2(Ye
e

y =X E(Y)=M

Xu N(x > +3r

xie.e-



Arkur 5
-

f(x,y) =k(x2y2),(y)=[0,32

Na ntpageinaigus que ferringa Gibbs.

..
(Axx) =(k(x+y2)dy =

=k( +5)

fxx(y1x) ==yeo]

S fxly(xy) =i, ce (0,2]
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sins x-fens), in Exag
Terrizyla andfxy(ipy) :, xe/0,]
Midotos arnogoging:

Fxy(ly):)"ds =

(yx +x] =

-exte



N ! F(X):21 (robrician)

Graffaria accept/rejectp*gr2(0,D-

wMonte Cart a excipuon
-

A =E,9"log(21), 02921.

Xe 3,2, ...3:f(x) wy,oxex

X-Geom(P), (ay. Jomquio)

P(X =x) =D - p)
*

p, k=1,2,---

:(p)D-p)"

Oczorpe (-p -- (p =1 - e)

X-Geom(1-e)

P(X =x) =29", k -1,2,.. -



A =9"log(x -1) =

· .(log(k) =

P(=k)

=log(x1],X-GeomII-e)

Aoknon I
-

X,Y):f(x,x) =(kg, yz0, at thalsor

⑨ Repaticthe servinga nun f(x,y)

③ 1. "my (X,/> e



In
f(x,3)>0

1

#x8:x
⑭

'ye

⑨ f(x,y) =kx31(x2y2 =1,x,yz0)

(Gibbs??araquaisaFotos).

Graffarnia (angbin) accept/reject.

g(x,y)
=b(0 =x,y

=1),x,4-10,1)
indep



c-sup y=
-max(xy:x,yz0, xy]

-
asgarvan

nei

x,x?0

Fy 20: xy' pejronotical da

x

2

1-y2

max(xy:x, yz0, xxy =13:
(x,y)

-yes, max (x:
x10, =1-yz}}
e

↑x

%)(4-178G = a

h(y) =D-y2) y
3

=y-y5 -> disorium by
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